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	10.1  Determine the constant speed at which the cable at A must be drawn in by the motor in order to hoist the load at B 15 ft in 5 s.
Ans:   vA = 12 ft/s →


	10.2  For the system of Problem 10.1, determine the time needed for the load at B to reach a speed of 8 m/s, starting from rest, if the cable as drawn into the motor with an acceleration of 0.2 m/s2.

Ans:  t = 160 s
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	10.3  If the end of the cable at A is pulled down with a speed of 2 m/s, determine the speed and direction of block B.
Ans:   vB = 0.5 m/s ↑
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	10.4  If block A is moving downward with a speed of 4 ft/s while C is moving upward at 2 ft/s, determine the speed of block B.  
Ans:  vB = 1 ft/s ↑

	10.5  For the system of Problem 10.4, if block A is moving downward at 6 ft/s while block C is moving down at 18 ft/s. determine the relative velocity of block B with respect to block C.

Ans:   vB/C = 30 ft/s ↑
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	10.6  Two boats leave the shore at the same time and travel in the directions shown.  If vA = 20 ft/s and vB = 15 ft/s, determine the speed of boat A with respect to boat B.  How long after leaving the shore will the boats be 800 ft apart?

Ans:   vA/B = 21.7 ft/s, θ = 162.0°
          t = 36.9 s
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	10.7  At the instant shown, cars A and B are traveling at speeds of 55 mi/h and 40 mi/h, respectively.  If B is increasing its speed by 1200 mi/h2, while A maintains a constant speed, determine the velocity and acceleration of B with respect to A.  Car B moves along a curve having a radius of curvature of 0.5 mi.
Ans:   vB/A = 28.5 mi/hr, θ = 44.5°
   aB/A = 3418 mi/hr2, θ = 80.6°
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	10.8  A man can row a boat at 5 m/s in still water.  He wishes to cross a 50-m wide river to point B, 50 m downstream.  If the river flows with a velocity of 2 m/s, determine the speed of the boat and the time needed to make the crossing.

Ans:  vb = 6.21 m/s, t = 11.4 s
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	10.9  A passenger in an automobile observes that raindrops make an angle of 30° with the horizontal as the auto travels forward with a  speed of 60 km/h.  Compute the (constant) terminal speed of the rain if it is assumed to fall vertically.

Ans:  vr = 34.6 km/hr



